
1)  DD, where:   ( )[ ]d1exp15.0 αθ −+=  

 =distance d

 

2)  PDD, where:  ( )( ) ( ){ }[ ]dd 12 logexp15.0 ααθ −+=  

 

3)  DIR, where:  ( )( ) ( )( ){ }3 40.5 1 exp cos sinθ α φ µ α φ⎡ ⎤= + − + −⎣ ⎦µ  

 φ  = the  angle of emission distribution from the pollution source to each 

 regional centroid and µ  is the estimated mean angle. 

 

4)  DDIR, where:  ( )( ) ( )( ) ( ){ }3 40.5 1 exp cos sin dθ α φ µ α φ µ⎡ ⎤= + − + − −⎣ ⎦1α  

 

      5)  PDDIR, where: 
 ( )( ) ( )( ) ( )( ) ( ){ }3 4 20.5 1 exp cos sin log d dθ α φ µ α φ µ α⎡ ⎤= + − + − + −⎣ ⎦1α   

 


